9. What is a subquery in SQL ? Provide an example.

SQL # subquery 1 & ? Uk 3SR ST

Section—-C 2x12=24

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 12 marks.
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What is a join in SQL ? Describe the different
types of joins in SQL.

SQL # wifs7 0 & ? SQL # fafe= y&r & <ifgT &1
U HITST |

What is concurrency control in DBMS ? Describe
the different concurrency control techniques.
DBMS # wHaifesrar femmr @1 & 2 fafv=

TURITARdl IS0 qehsieh] Rl IUF hITSTU |

What 1s a data warehouse ? Describe its
characteristics.

22 TERE R & ? U fawivares &1 aui wifsu |
What is a distributed database ? Describe its
advantages.

Distributed SIS 1 § ? 3 T4l I 90 HiToT |
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Note -— The question paper is divided into three Sections

A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note -— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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. (1) What is ER diagram ?
ER =&u™ #1 ¢ ?

(i1)) Define the term ‘entity’ in the context of
databases.

SIeE &% Hod § ‘ufedt’ v i aRenfea ifew

(iii) What is the purpose of the WHERE clause
in SQL ?

SQL # WHERE oSl &1 3299 &1 § ?
(iv) Explain the concept of a view of in SQL.
SQL § = ®! TAYURON ! HHAET |
(v) What is a deadlock in DBMS ?
DBMS # Sedll® 1 ¢ ?
(vi) Define the term ‘metadata’.
‘Herear’ wsg skl gfwifed sifse

(vil) What is the difference between CHAR and
VARCHAR data types in SQL ?

SQL # CHAR 3R VARCHAR 31 Y[ H
T IR T ?

Section-B 4x6=24

(Short Answer Type Questions)
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2. What is a Database Management System (DBMS) ?
Explain its advantages.
DBMS &1 & ? 9% o9 9eET |

3. Explain the hierarchical database model with an
example.
T Q0T & WY hierarchical SEeE HISA i
RREIERY

4. What is an Entity-Relationship (ER) model ?
Explain its components.
ER #feed 1 § ? 39 TZhi ol GHEAET|

5. Explain the concept of relational algebra.
e sismforg st STEyRon sl GAERT |

6. What is Boyce-Codd normal form (BCNF) ?
Provide an example.
Saq-hig TW &9 (BCNF) 1 § ? TH ST
gifsu |

7. List and describe common RDBMS packages.
= RDBMS TSt %1 et AT iR 31 9o
IS |

Note .— Answer any four questions. Each answer should not 8. What is SQL ? Describe its main features.
exceed 200 words. Each question carries 6 marks. SQL # ¥ ? 9% g&a favivaisii &1 avi Hifeg |
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